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1 |2012-11-01| O] A7} OfFAH X M FR| 8 2X|HE 2 A28 9| 6 7= 180,000
2 |eote-11-01[R F =7t g AT HLAYH YRHE B 7t= 40,500
3 |2012-11-02|ALE 2 AFE T} ” Mo URHE 2 2heEE] g F 5 = 60,000
4 |2012-11-05| M| == 7} i Op AU CHR| 24 7H @ 53 2 4 = 34,500
5 |2012-11-05{ M ujj = “ Aglgn 8 Muds| s E P YR e 5 7= 70,500
6 {2012-11-07{H 2! g} i HHARLAI AR ED 23 2 £8 9 5 = 26,000
7 jeotz-1i-orjMeEZs Aojgl HeED NBZHE 23| 7 E 7 = 70,000
8 [2o12-11-09| B2 S A= " E HEWE g odn 1Y ¢R3 e 6 7tE 64,000
9 |ecte-11-12)M & i SH =da g o @ ¢REe 8 = 170,000
10 [2012-11-13[ &4 uj| & " Bagot U HE 5 7= 40,000
11 |20i2-11-14| Ml F " Ol CiX=a ZH oAl HHAE 2E 2o 4 7tz 26,000
12 {2012-11-13{SlR2 Ol E i =ZEY AFEe ¥ Zhehs A8 T clu P X210 ~1185) 7tE 101,540
13 [e0t12-11-15|0 Eb = ” HAEAIZA QR B 7ers | 12 7= 72,800
14 |2012-11-15| X 2 27| “ Of2 X =M 3330 HElHE 2 Y23 5 7t= 52,000
15 |2012~11-16| 8=t 2t i AR ZAL =2t 2 SR e 5 = 50,000
16 |2012-11-18| 0 & ’ AR ZAL =218 D) 2] 8 2hed 7heths]| 7Y & 8 = 140,000
17 |z012-11-20 8 b 2 ” O M A MlojZdnL HE ZHEE| 7Y 5| 8 b= 64,000
18 {2012-11-20{H}| 5= A} ! l=ol BAFA U opF 4 TR A e A EEHo 7 7H= 240,000
19 {2012-11-22{ A| & of Zolf F " OpF X7 o A X ALSAH & Ha @e clziy) X2 7= 71,480
20 {2012-11-22|2d B & D} ” TR LR QR MAL HWIL BB 2|F clife] X2 7t= 64,000
21 |eot2-11-23|giszt=2 ” AMUAEAM g EREEAM I A2FHo 4 7tE 30,000
22 |ao12-11-26| M E0d 7} 23|28 QPR Bl R o 3 t= 21,000
23 |2012-11-27} 7l # & HEALR A 4R o 4 7t= 28,000
24 |2012-11-28| P RHE Shol| B 4 ” OFEEXEN SR 73 e UFEHE 5 7t= 42,000
25 |2012-11-20|A|E o ZOH g = EA & | g Zhes] sl A2 e clate = 59,200
26 [2012-11-20| & 5K EEAZ W Y BT MY QReiol 7ieks| o & 9 e 281,000
27 [2012-11-30| 6l &f gHE Ol A EhX| A I A2 oi7iEE 7| A 8 = 160,500
28 |2012-11-06|8iH 2) 702k e E AR ZEAL F=u| X2l 2 2 14 7t 96,900
29 [2012-11-07| A| & o ol & i a4 Bef G el HoE i clof7elu) X2 7= 110,000
30 [2012-11-21| B L ] AL 2HAL Y ot 2 Bl 2 e (ALef 7] EH) 9 7= 171,600
31 {2012-11-22| A S AL A B AEAR ZAL 3 slote 2 A2 (Y FX| | 7| 4] E) 11 B = 143,000
32 {2012-11-22]{ Qo 3| ALt FAE oL AR K elHa] 7hEE T F| 15 = 285,000
33 |2012-11-23{2}2FE| L} OF5 MR =AM SO F 2ol 16 = 424,200




